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1.How does the Cisco ACI fabric decouple host identity from its location in the fabric? 

A. VTEP addresses 

B. contract 

C. end point groups 

D. L2VPN EVPN address family 

Answer: C 

 

2.Which best describes the Cisco ACI fabric configuration? 

A. manual discovery, manual provisioning, 10- and 40-Gb/s links, Clos design 

B. autodiscovery, manual provisioning, 10- and 40-Gb/s links, Clos design 

C. autodiscovery, zero-touch provisioning, 40-Gb/s links, Clos design 

D. manual discovery, zero-touch provisioning, 40-Gb/s links, Clos design 

Answer: C 

 

3.What is the requirement to establish connectivity in the Cisco ACI fabric between two EPGs in separate 

tenants? 

A. scope tenant contract 

B. scope private contract 

C. scope intertenant contract 

D. scope global contract 

Answer: D 

 

4.Which network protocol is used for Cisco ACI fabric data plane forwarding? 

A. VXLAN 

B. ISIS 

C. MP-BGP 

D. FabricPath 

Answer: A 

 

5.Which two encoding languages are used by the Cisco APIC API? (Choose two.) 

A. JSON 

B. JAVA 

C. BSON 

D. XML 

E. YAML 

Answer: A, D 

 


